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ВАРИАНТ 2
Переведите текст письменно на русский язык
RED CLOVER
Red clover is a short-lived perennial but often is treated as a biennial. It requires good drainage, but does tolerate more soil moisture and acidity than alfalfa. There are two general types. Single-cut red clover is relatively late-maturing, late flowering, winter hardy. Double-cut red clover flowers earlier, is less winterhardy.
Early spring seeding is preferred, but good stands can be established until late July provided the young seedlings are not exposed to excessive heat or drought. Companion crops are often sown, although better stands result and increased yields occur if the clover is seeded alone. Where companion crops such as flax, wheat, or oats, are used they should be seeded separately at about one-half the usual rate and in rows 12 inches apart.
Fertilizers. A good practice is to apply about 25 pounds per acre of P2O5 of seeding time. Any deficiency of phosphorus, potassium, or sulphur, revealed by a soil test, should be corrected by working the treatment into the soil before seeding.
Harvesting. Methods of harvesting vary widely. In many arears the crop is defoliated and straight combined when the heads are black and the seed ripe. Other growers swath or cut with a mower equipped with a windrowing attachment when the crop has about 35% moisture. At this stage the heads are brown and most of the seeds ripe or tinged with purple. The swaths or windrow are left to dry for 7 to 10 days before they are threshed.
I. Подчеркните в каждом предложении глагол – сказуемое и определите видовременную форму и залог. Переведите предложения на русский язык. В разделе (б) обратите внимание на перевод пассивных конструкций.
   a). 1. Surface cultivation before seeding will give the forage seedlings an equal start with the weeds.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
      2. Many experiments have compared the effect of different companion crops.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
б). 1. Many legumes are pollinated by honey bees.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
      2. These fertilizers are being applied.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
II. Подчеркните Participle I и Participle II и установите функцию каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. Переведите предложения на русский язык.
     1. Several insect pests are confined to certain crops.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
     2. Seed containing many weed seeds must bear the cost of cleaning.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
    3. Spaced rows allow cultivation between the rows.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
    4. When sowing in August autumn seedings can be successful.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
III. Подчеркните в каждом предложении модальный глагол или его эквивалент. Переведите предложения на русский язык.
    1. Nitrogen should be applied at 80 pounds per acre.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
    2. A clean burn may be probably more effective.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
    3. Straight combining has to be used.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
    4. You can reduce the cylinder speed.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
IV. Выпишите из текста эквиваленты к словам и словосочетаниям:
    почва ___________________________________________________________
    крепление _______________________________________________________
    влага ___________________________________________________________
    созревать ________________________________________________________

